EN/ FR / ES
LK101 Series

What's Included ¢ Ce qui est inclus Qué esta
incluido

-0

@ Part Description Quantity @
Partie | Description Quantité
Part Descripcion Cantidad
A Key 2
Clé / Clave

B Exterior Assembly 1
Assemblage extérieur / Ensamblaje exterior

C Cylinder 1
Cylindre / Cilindro

D Torque Blade 1
Lame de couple | Hoja de torsion

E Power Cable 1
Cable d'alimentation / Cable eléctrico

F Mounting Plate 1
Plaque de montage / Placa de montaje

G Interior Assembly 1
Assemblage intérieur | Ensamblaje interior

H Battery Cover 1
Couvercle de la pile | Cubierta de la bateria

| Latch 1
Loquet / Pasador

J Bottom Plate (Optional) 1
Plaque inférieure (facultatif) / Placa inferior
(opcional

K | Square or Round Faceplate (Optional) 1
Plaque avant carrée ou ronde (facultatif)
Placa frontal cuadrada o redonda (opcional)

L Drive-in Collar (Optional) 1
Collier d’entrainement (facultatif) / Collarin de
accionamiento (opcional

M Strike Plate 1
Gache / Placa de cerradura

| ® |

LK101_QSG_EN-FR-ES_Rl.indd 1 2024-04-12 6:21:10 PM




®

N Reinforced Strike Plate 1
Gdche renforcée | Placa de cerradura reforzada
[¢] Dust Box 1

Boite & poussiére [ Caja de polvo

Part Description Quantity

Partie | Description Quantité

Part Descripcion Cantidad
AA | 2-1/16" (52 mm) Mounting Bolt 2

Boulon de montage 52 mm (2-1/16 po)
Perno de montaje de 2-1/16 in (52 mm)

BB |1-1/4" (317 mm) Screw [Hole size: @ 2-1/8” (54 mm)] 1
Vis de 31,7 mm (1-1/4 po) [Taille du trou : @ 54 mm
(2-1/8 po)]

Tornillo de 1-1/4 in (31,7 mm) [Tamano del orificio: @
2-1/8 in (54 mm)]

cc |3/4" (19 mm) Screw 2
Vis de 19 mm (3/4 po)
Tornillo de 3/4 in (19 mm)

DD | 3/4" (19 mm) Wood Screw 4
Vis & bois de 19 mm (3/4 po)
Tornillo para madera de 3/4 in (19 mm)

EE 3" (76 mm) Wood Screw 2
Vis & bois de 76 mm (3 po)
Tornillo para madera de 3 in (76 mm)

Tools Needed / Outils nécessaires [ Herramientas necesarias:

. Philips Head Screwdriver | Tournevis a téte Philips | Destornillador de
cabeza Philips

. Flathead Screwdriver [/ Tournevis & téte plate / Destornillador de
cabeza plana*

«  Pencil [ Crayon [ Lapiz*

- Drill / Perceuse [ Taladro*

«  Spade Drill Bit / Méche & béche / Broca de pala*

- Mortise Chisel / Bédane [ Cincel de embutir*

«  Hammer [ Marteau / Martillo*

« Wooden Block / Bloc de bois / Bloque de madera*

«  Pliers / Pinces / Alicates*

*Optional / facultatif / opcional

® |

LK101_QSG_EN-FR-ES_Rl.indd 2 2024-04-12 6:21:10 PM




®

4 N\
Drill a 1" (25.4 mm)
diameter hole at the center
of the door edge.

Percer un trou de 25,4
mm (1 po) de diamétre au
centre du bord de la porte.

Taladre un orificio de 1in
(25,4 mm) de didmetro en
el centro del borde de la
r_uco;QA

Fold here.
Place on the door
edge.

Plier ici.
Placer sur le bord de
la porte.

Doble aqui.
Coloéquelo en el
borde de la puerta.

®

DOOR TEMPLATE « MODELE DE PORTE « PLANTILLA DE LA PUERTA

1-3/4"  1-9/16" 1-3/8"

(81 mm) (45 mm) (40mm) (35 mm)

Backset / Distance
d'entrée / Encaje posterior

2-3/8" (60 mm)

NN

Backset / Distance
d'entrée [ Encaje posterior

- -

2-3/4" (70 33v.

QSG

2024-04-12 6:21:11 PM

_EN-FR-ES_Rl.indd 3

LK101



®

al (254 mm)
diameter hole at the center
of the door edge.

Percer un trou de 25,4
mm (1 po) de diamétre au
centre du bord de la porte.

Taladre un orificio de 1in
(25,4 mm) de diGmetro en
el centro del borde de la
r_ucm_‘a.

Fold here.

Place on the door
edge.

Plier ici.

Placer sur le bord de
la porte.

Doble aqui.
Coléquelo en el
borde de la puerta.

2" 1-3/4"  1-9/16" 1-3/8"
(81 mm) (45 mm) (40mm) (35 mm)

.
’
v

Ay
Ay
~

’
! 21-1/2" (38 mm)
1
1

Backset / Distance 2-3/8" (60 mm)
d’entrée | Encaje posterior

VY VNV VY SV VSV VRV VS AV VN

Backset / Distance 2-3/4" (70 mm)

d'entrée | Encaje posterior

[Opp—— - —————

2024-04-12 6:21:11 PM

EN-FR-ES_Rl.indd 4

_QSG_

LK101



®

EN - Door Preparation

Check that pre-drilled holes in the door match the sizes on the door

template before installation.

WARNING! Only drill into the door if you are skilled in safe drill

operation and fully understand the steps.

1. Use the template
and pencil to mark
the door.

2. Drill the holes. To
prevent wood
splitting, drill from
both sides of the
door.

1" (25.4 mm)

Sl

Backset
Distance d'entrée
Encaje posterior

- N
I 2-1/8" (54 mm) N
orfou/o

1-1/2" (38 mm)

|

For 2-3/8" (60 mm) backset: 3-7/16" (87.3 mm)

Centerline
Ligne médiane
Linea central
R
2-1/8" (54 mm)
orfou/o
1-1/2" (38 mm)

®

For 2-3/4" (70 mm) backset: 3-13/16” (96.8 mm)

3. Chisel out a mortise
5/32" (3 mm) deep

Faceplate
Plaque avant
Placa frontal

Note: If you prefer

not to chisel, an
alternative installation
method using the
drive-in collar will be
explained later.

4. Prepare the door
jamb by using the
strike plate as a
guide. Drill latch and
screw holes, then
chisel out a mortise
until the strike plate
fits flush.

Door jamb hole size
a. 1-3/16" (30 mm)
b. 1-9/16"(40 mm)
c. 1'(25mm)

Strike plate size

d. 5/32" (4 mm)
e. 2-3/4" (70 mm)
f. 1-1/8" (28 mm)

LK101_QSG_EN-FR-ES_Rl.indd 5

Outline
Contour
Contorno

2024-04-12 6:21:12 PM




®

5. Attach the dust box
and reinforced strike
plate to the door
jamb using the 3" (76
mm) screws (2x).

6. Attach the strike
plate using the 3/4"
(19 mm) screws (2x).
Dust Box :
Boite & poussiére
Caja de polvo

Reinforced strike plate
Gdche renforcée
Placa de cerradura reforzada

Strike plate
Strike plate
Strike plate

FR - Préparation de la porte

Avant l'installation, vérifiez que les trous prépercés dans la porte
correspondent aux dimensions du gabarit de la porte.

AVERTISSEMENT! Ne percez la porte que si vous savez
utiliser une perceuse en toute sécurité et si vous connaissez
parfaitement les étapes.

1. Utilisez le gabarit et un crayon pour marquer la porte.
2. Percez les trous. Pour éviter que le bois se fende, percez des deux
cotés de la porte.

Pour une distance d'entrée de 60 mm (2-3/8 po) : 87,3 mm

(3-7/16 po)
Pour une distance d'entrée de 70 mm (2-3/4 po) : 96,8 mm
(3-13/16 po)
3. Creusez une mortaise de 3 mm (5/32 po) de profondeur.
@ Remarque : Si vous préférez ne pas ciseler, une autre méthode @
d'installation utilisant le collier d’entrainement sera expliquée plus
loin.

4. Préparez le montant de la porte en utilisant la gdche comme
guide. Percez les trous du loquet et de vis, puis ciselez une mortaise
jusqu'da ce que la gache vienne s’encastrer.

5. Fixez la boite & pouSS|ere et la géche renforcée au montant de la
porte a l'aide des vis de 76 mm (3 po) (2x

6. Fixez la géche a l'aide des vis 19 mm (3/4 po) (2x).

ES - Preparacion de la puerta

Compruebe que los agujeros pretaladrados en la puerta coincidan
con los tamarios de la plantilla de la puerta antes de la instalacion.

iADVERTENCIA! Solo taladre en la puerta si es experto en el
manejo seguro del taladro y comprende perfectamente los
pasos a seguir.

1. Utilice la plantilla y el lapiz para marcar la puerta.
2. Perfore los agujeros. Para evitar que la madera se parta, taladre
desde ambos lados de la puerta.

Para un encaije posterior de 2- 3/8in (60 mm): 3-7/16 in (87,3 mm)
Para un encaje posterior de 2-3/4 in (70 mm): 3-13/16 in (96,8 mm)

3. Cincele una mortaja de 5/32 in (3mm) de profundidad.

Nota: Si prefiere no cincelar, més adelante se explicard un método
de instalacién alternativo mediante un collarin de accionamiento.

4. Prepare el marco de la puerta usando la placa de cerradura
como guia. Taladre los orificios para el pasador y los tornillos y
luego cincele una mortaja hasta que la placa de cerradura quede
alineada.

5. Fije la caja de polvo y la placa de cerradura reforzada al marco de
la puerta utilizando los tornillos de 3 in (76 mm) (2x).

6. Fije la placa de cerradura con los tornillos de 3/4 in (19 mm) (2x).

® |

LK101_QSG_EN-FR-ES_Rl.indd 6 2024-04-12 6:21:12 PM




®

EN - Latch Installation

1. Install the correct
faceplate.

To prepare for
the no-chisel
drive-in collar
method, remove
the pre-installed
outer plate

from the latch
using a flathead
screwdriver, and
slide off the inner
plate. Attach the
drive-in collar.

2. Adjust the latch backset
length by twisting it 180°.

CAUTION! Ensure
the cam latch is
positioned "UP"
before adjusting
the backset.

VAN

Edge of door
Bord de la porte
Borde de la puerta

Faceplate
Plaque avant
Placa frontal

Edge of door
Bord de la porte
Borde de la puerta

&

Drive-in Collar
Collier d’entrainement
Collarin de accionamiento

LK101_QSG_EN-FR-ES_Rl.indd 7

2024-04-12 6:21:16 PM



3.

FR

1.

@ 2.

w

ES

Install the latch
using the 3/4" (19
mm) wood screws
(2%).

Backset
Distance d’entrée
Encaje posterior

Tap latch flush.
Use a wooden
block (not
included) between
the hammer

and the drive-in
latch to prevent
damage.

- Installation du loquet

Installez la bonne plaque avant.

Pour préparer la méthode du collier d’entrainement sans ciseau,
retirez la plaque extérieure préinstallée du loquet & I'aide d'un
tournevis d téte plate, et faites glisser la plaque intérieure. Fixez le
collier d’entrainement.

Ajustez la longueur de la distance d’entrée du loquet en le tournant @
de 180°.

MISE EN GARDE! Veillez & ce que le loquet a came soit
positionné « UP » (en haut) avant d'ajuster la distance
d'entrée.

Installez le loquet & I'aide des vis a bois de 19 mm (3/4 po) (2x).
Tapez sur le loquet pour I'aligner. Placez un bloc de bois (non
fourni) entre le marteau et le loquet d’entrainement pour éviter de
'endommager.

- Instalacién del pasador

Instale la placa frontal correcta.

Para preparar el método de collarin de accionamiento sin
cincel, retire la placa exterior preinstalada del pasador con un
destornillador de cabeza plana y deslice la placa interior. Fije el
collarin de accionamiento.

Ajuste la longitud del encaje del pasador girandolo 180°.

A iPRECAUCION! Asegirese de que el pasador de leva esté

colocado hacia "ARRIBA" antes de ajustar el encaje posterior.

I(nstgzle el pasador con los tornillos para madera de 3/4 in (19 mm)
2x).

Golpee el pestillo hasta que quede alineado. Utilice un bloque de
madera (no incluido) entre el martillo y el pasador para evitar
danos.

® |

LK101_QSG_EN-FR-ES_Rl.indd 8 2024-04-12 6:21:17 PM



LK101_QSG_EN-FR-ES_Rl.indd 9

®

EN - Lock Assembly Installation

Door bore size options:

@ 2-1/8" (54 mm)

For @ 1-1/2" (38 mm)
Use pliers and a
flathead screwdriver
to remove the
pre-installed
mounting plate
pieces to prepare for
installation.

Install the lock
assembly:

Ensure the latch bolt is
retracted.

Thread the cable "%
through the hole and o
under the latch.

Place the exterior lock
assembly against the
door. ] d
Position the raised part

of the mounting plate

against the door. » ——

®

2024-04-12 6:21:19 PM



